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Cars in my Street Pie Graph

Toyota
9 cars

108o

Tip: Count the total number of cars and divide 360 degrees (a full circle) by 
that total number. You now know the size of an angle that represents 1 car 
in your circle graph. 

Yesterday I counted all the cars parked in my street. I counted 
9 Toyotas, 5 Hondas, 3 BMW’s, 6 Audis, 3 Chyslers and 4 
Mercedeses. Use the information to complete the pie graph.



Answers

N.B.: A different order of circle parts is possible of course

Honda
5 cars

60oChrysler
3 cars

36o

Audi
6 cars

72o

BMW
3 cars

36o

Toyota
9 cars

108o

Mercedes
4 cars

48o

Tip: Count the total number of cars and divide 360 degrees (a full circle) by 
that total number. You now know the size of an angle that represents 1 car 
in your circle graph. 

Yesterday I counted all the cars parked in my street. I counted 
9 Toyotas, 5 Hondas, 3 BMW’s, 6 Audis, 3 Chyslers and 4 
Mercedeses. Use the information to complete the pie graph.


